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 x……®……ΔEÚ Roll No. 
  

 
 

      

No. of Questions — 30  SS—30–Accountancy 

No. of Printed Pages — 15 
 

=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2013 
SENIOR SECONDARY EXAMINATION, 2013 

±…‰J……∂……∫j… 
ACCOUNTANCY  

∫…®…™… :  3 
4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 80 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… :  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â*  
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ∫…¶…“ |…∂x… + x…¥……™…« ΩÈ˛*  
  All the questions are compulsory.  
 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙ {…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  
  Write the answer to each question in the given answer-book 

only. 
 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 
  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙h… ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ / 

 ¥…Æ˙…‰v……¶……π… Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ Ω˛“ ∫…Ω˛“ ®……x…Â*  
  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 

 6. i) ™…Ω˛ |…∂x… {…j… n˘…‰ J…hb˜…Â ®…Â  ¥…¶…HÚ ΩË˛ — + +…ËÆ˙ §… 
  ii) J…hb˜ "+' ∫…¶…“ UÙ…j……Â E‰Ú  ±…B + x…¥……™…« ΩË˛* 
  iii) J…hb˜ "§…' E‰Ú n˘… ‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ 

¶……M… E‰Ú ∫…¶…“ ∫……i… |…∂x……Â E‰Ú Ω˛±… EÚÆ˙x…… ΩË˛*   
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  i) This question paper contains two Parts A and B. 
  ii) Part 'A' is compulsory for all candidates. 
  iii) Part 'B' has two portions. Every portion has 'a set' of seven 

questions. Candidate can attempt only a set of seven 
questions of any one portion.  

 7. ¶……M… |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… 
  + 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

  §… 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

+l…¥…… 
   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
  Part Question Nos. Marks per question 
   A 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

   B 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

OR 

   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
 8. |…∂x… ∫…ΔJ™…… 22 (¶……M…-+) i…l…… 30 (¶……M…-§…) ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛*  
  There are internal choices in Q. No. 22 ( Part-A ) and Q. No. 30  

( Part-B ). 
 



 3   

SS—30–Accountancy SS–558   [ Turn over 

J…hb˜ - + 
PART – A  

1. V…§… BEÚ x…™…… ∫……Z…‰n˘…Æ˙ ∫……Z…‰n˘…Æ˙“ °Ú®…« ®…Â |…¥…‰∂… EÚÆ˙i…… ΩË˛ i……‰ °Ú®…« EÚ“ ∫…®{… k… B¥…Δ ±……¶… ®…Â 
 Ω˛∫∫…… |……{i… EÚÆ˙x…‰ E‰Ú  ±…B V……‰ Æ˙… ∂… ±……i…… ΩË˛ =∫…‰ C™…… EÚΩ˛i…‰ ΩÈ˛˛? 

 When a new partner enters in a partnership firm, what is called the 
amount that he brings to receive share in firm's assets and profit ? 1 

2. +Δ EÚi… +…ËÆ˙ §…∫…xi… °Ú®…« ®…Â ±……¶… i…l…… Ω˛… x… EÚ…‰ 3 : 2 ®…Â §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛˛* M……‰ ¥…xn˘ EÚ…‰ 

5
1 ¶……M… E‰Ú  ±…B ∫……Z…‰n˘…Æ˙“ ®…Â |…¥…‰∂… n‰˘i…‰ ΩÈ˛* M……‰ ¥…xn˘ =∫…‰ +Δ EÚi… +…ËÆ˙ §…∫…xi… ∫…‰ 2 : 3 E‰Ú 
+x…÷{……i… ®…Â |……{i… EÚÆ˙i…… ΩË˛* ∫……Z…‰n˘…Æ˙…Â EÚ… x…™…… ±……¶…-Ω˛… x… +x…÷{……i… C™…… Ω˛…‰M…… ?  

 Ankit and Basant are partners in a firm sharing profits and losses in 
the ratio of 3 : 2. Govind is admitted in the firm for 5

1 th share in profit. 
Govind gets it from Ankit and Basant in the ratio of 2 : 3. Calculate the 
new profit and loss sharing ratio of the partners. 1 

3. + +…ËÆ˙ §… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛˛* °Ú®…« EÚ“  ¥… x…™……‰ V…i… {…⁄ƒV…“ 5,00,000 Ø˚0 ΩË˛ +…ËÆ˙ 
∫……®……x™… |…i™……™… EÚ“ n˘Æ˙ 10% ¥……Ãπ…EÚ ΩË˛* |…i™…‰EÚ ∫……Z…‰n˘…Æ˙ EÚ… ¥……Ãπ…EÚ ¥…‰i…x… 8,000 Ø˚0 ΩË˛* 
M…i… 10 ¥…π……Á EÚ… +…Ë∫…i… ±……¶… 80,000 Ø˚0 l……* + v…±……¶……Â E‰Ú {…⁄ƒV…“EÚÆ˙h…  ¥… v… E‰Ú +…v……Æ˙ 
{…Æ˙ J™…… i… EÚ“ M…h…x…… EÚ“ V…B* 

 A and B are partners in a firm. The capital employed of the firm is    
Rs. 5,00,000 and normal rate of return is 10% per annum.         
Annual salary of each partner is Rs. 8,000. The average profit was    
Rs. 80,000 for last 10 years. Calculate the value of goodwill by super- 
profit capitalisation method. 1 

4. +, §… +…ËÆ˙ ∫… BEÚ °Ú®…« ®…Â 5 : 3 : 2 E‰Ú +x…÷{……i… ®…Â ±……¶…-Ω˛… x… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛˛* °Ú®…« 
x…‰ BEÚ 1,50,000 Ø˚0 EÚ“ ∫…Δ™…÷HÚ V…“¥…x… §…“®…… {……Ï±…“∫…“ ±…“* §… EÚ“ ®…fii™…÷ Ω˛…‰ M…<«* ®…fii™…÷ E‰Ú 
∫…®…™… {……Ï±…“∫…“ EÚ… ∫…®…{…«h… ®…⁄±™… 50,000 Ø˚0 {…÷∫i…EÚ…Â ®…Â n˘V…« l……* ∫…Δ™…÷HÚ V…“¥…x… §…“®…… E‰Ú 
∫…®……™……‰V…x… Ω‰˛i…÷ BEÚ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* 

 A, B and C are partners in a firm sharing profits and losses in the ratio 
of 5 : 3 : 2. The firm took a joint life policy of Rs. 1,50,000.          B 
died. The surrender value of the policy was Rs. 50,000 in the books at 
the time of death. 

 Pass a journal entry for adjustment of joint life policy. 1 
5. °Ú®…« E‰Ú ∫…®……{…x… E‰Ú ∫…®…™…  S…_‰ˆ ®…Â 60,000 Ø˚0 E‰Ú n‰˘x…n˘…Æ˙ l…‰* =x…®…Â ∫…‰ 20,000 Ø˚0 b⁄˜§… 

M…™…‰* ∂…‰π… ∫…‰ 5% §…^‰ı {…Æ˙ ¥…∫…⁄±… Ω÷˛B*  ¥…∫…⁄±…“ {…Æ˙ BEÚ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* 
 At the time of dissolution of a firm the Debtors were Rs. 60,000 in the 

Balance Sheet in which Rs. 20,000 were Bad debts. Balance were 
realised at 5% discount. Pass a journal entry on realisation. 1 

6. ∫¥…‰]ı <ŒC¥…]ı“ +Δ∂……Â EÚ…  x…M…«®…x… C™……Â +…ËÆ˙  EÚx…EÚ…‰  EÚ™…… V……i…… ΩË˛ ? 
 Why and to whom are sweat equity shares issued ? 1 
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7. "∫…Δ S…i… {…⁄ƒV…“' EÚ®{…x…“ u˘…Æ˙… EÚ§… ®……ƒM…“ V……i…“ ΩË˛ ? <∫…EÚ… BEÚ =q‰˘∂™… §…i……<B* 
 When is 'Reserved Capital' called by the company ? Write any one 

purpose of it. 1 
8. ∫…®…{……Ã∑…EÚ |… i…¶…⁄ i… E‰Ú ∞¸{… ®…Â  x…M…« ®…i…  EÚ™…‰ M…™…‰ @Òh…{…j……Â E‰Ú ∫…®§…xv… ®…Â C™…… |… ¥…Œπ]ı    

Ω˛…‰M…“ ? 
 What will be the entry when the debentures are issued as collateral 

security ? 1 
9. ∫……Z…‰n˘…Æ˙“ ∫…Δ±…‰J… E‰Ú +¶……¥… ®…Â ±……M…⁄ Ω˛…‰x…‰ ¥……±…‰ S……Æ˙  x…™…®…  ±… J…B* 
 Write any four rules applicable in the absence of partnership deed. 2 
10. + +…ËÆ˙ §… GÚ®…∂…: 20,000 Ø˚0 +…ËÆ˙ 10,000 Ø˚0 EÚ“ {…⁄ƒV…“ E‰Ú ∫……l… ∫……Z…‰n˘…Æ˙ ΩÈ˛* =xΩ˛…Âx…‰ 

°Ú®…« E‰Ú ±……¶……Â ®…Â 5
1   Ω˛∫∫…‰ E‰Ú ∫……l… ∫… EÚ…‰ ∫……Z…‰n˘…Æ˙ E‰Ú ∞¸{… ®…Â |…¥…‰∂…  n˘™……* ∫… +{…x…‰  Ω˛∫∫…‰ 

EÚ“ {…⁄ƒV…“ E‰Ú ∞¸{… ®…Â 10,000 Ø˚0 ±……i…… ΩË˛* °Ú®…« EÚ“ J™…… i… E‰Ú ®…⁄±™… EÚ“ M…h…x…… EÚ“ V…B* 
 A and B are partners with capital of Rs. 20,000 and Rs. 10,000. They 

admitted C as a partner with 5
1 th share of firm's profit. C brings      

Rs. 10,000 as his share of capital. Calculate the value of firm's 
goodwill. 2 

11. + x…±…, ∫…÷x…“±… +…ËÆ˙ M……‰ ¥…xn˘ 2 : 2 : 1 ®…Â ±……¶… B¥…Δ Ω˛… x… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* M……‰ ¥…xn˘ E‰Ú 
+¥…EÚ…∂… O…Ω˛h… EÚÆ˙x…‰ {…Æ˙ ∫…¶…“ ∫…®……™……‰V…x……Â E‰Ú §……n˘ ∫……Z…‰n˘…Æ˙…Â E‰Ú {…⁄ƒV…“ J……i……Â E‰Ú ∂…‰π… GÚ®…∂…: 
40,000 Ø˚0, 30,000 Ø˚0 ¥… 20,000 Ø˚0 l…‰* + x…±… +…ËÆ˙ ∫…÷x…“±… x…‰ M……‰ ¥…xn˘ EÚ…‰ ¶…÷M…i……x… 
EÚ…  x…∫i……Æ˙h…  EÚ™…‰  §…x…… +M…±…‰ 6 ®……Ω˛ i…EÚ ¥™……{……Æ˙ S……±…⁄ Æ˙J…x…‰ EÚ…  x…∂S…™…  EÚ™……* <∫…      
6 ®……Ω˛ EÚ“ +¥… v… ®…Â °Ú®…« x…‰ 18,000 Ø˚0 EÚ… ±……¶… +ÃV…i…  EÚ™……* 6 ®……Ω˛ §……n˘ M……‰ ¥…xn˘ EÚ…‰ 
 EÚi…x…“ Æ˙… ∂… EÚ… ¶…÷M…i……x… |……{i… Ω˛…‰M…… ? 

 Anil, Sunil and Govind are partners sharing profits and losses in the 
ratio of 2 : 2 : 1. At Govind's retirement the balance of the partners 
capital A/c after making all adjustments were Rs. 40,000, Rs. 30,000 
and Rs. 20,000 respectively. Anil and Sunil decided to continue 
business for next 6 months without disposal of Govind's payment.     
Rs. 18,000 profit was earned by the firm during these six months. 
After six months what will be the amount received by Govind ? 2 

12. °Ú®…« EÚ… x™……™……±…™… u˘…Æ˙… ∫…®……{…x… EÚ“ S……Æ˙ {… Æ˙Œ∫l… i…™……Â E‰Ú x……®…  ±… J…B* 
 Write any four conditions when the firm is dissolved by the court. 2 
13. BC∫…  ±… ®…]‰ıb˜ x…‰ {…“  ±… ®…]‰ıb˜ ∫…‰ 5,00,000 Ø˚0 EÚ“ BEÚ ®…∂…“x… J…Æ˙“n˘“* BC∫…  ±… ®…]‰ıb˜ x…‰ 

100 Ø˚0 ¥……±…‰ 4,000 +Δ∂… {…⁄h…« ¶…÷M…i……x… ®…Â  x…M…« ®…i…  EÚ™…‰* BC∫…  ±… ®…]‰ıb˜ EÚ“ {…÷∫i…EÚ…Â ®…Â 
V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B* 

 X Ltd. purchased a machinery from P Ltd. for Rs. 5,00,000. X Ltd. 
issued 4,000 shares of Rs. 100 each in full settlement. Give journal 
entries in the books of X Ltd. 2 
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14. BEÚ EÚ®{…x…“ x…‰ 1 +|…Ë±…, 2011 EÚ…‰ 100 Ø˚0 ¥……±…‰ 2,000, 10% @Òh…{…j……Â EÚ…‰ 10% §…^‰ı 
{…Æ˙  x…M…« ®…i…  EÚ™……  V…x…EÚ… ∂……‰v…x… ∫…®… ®…⁄±™… {…Æ˙ 4 ¥…π…« {…∂S……i…  EÚ™…… V……x…… ΩË˛*  x…M…«®…x… B¥…Δ 
§…^‰ı EÚ…‰ +{… ±… J…i… EÚÆ˙x…‰ EÚ“ E‰Ú¥…±… |…l…®… ¥…π…« EÚ“ V…x…«±… |… ¥… π]ı™……ƒ EÚ“ V…B*  

 On 1st April, 2011 a company issued 10%, 2000 debentures of        
Rs. 100 each at 10% discount which will be redeemable at par after 
four years. Write journal entries for issue and discount written off only 
for first year. 2 

15. {…¥…x… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩË˛* =∫…x…‰ 31 ®……S…«, 2012 EÚ…‰ ∫…®……{i… ¥…π…« ®…Â  x…®x… Æ˙… ∂…™……ƒ 
+…Ω˛ Æ˙i… EÚ“ : 

  1 V…÷±……<«, 2011   20,000 Ø˚0 
  31 +M…∫i…, 2011  40,000 Ø˚0 
  1 +C]⁄ı§…Æ˙, 2011  10,000 Ø˚0 
  31 V…x…¥…Æ˙“, 2012    5,000 Ø˚0 
  1 ®……S…«, 2012    5,000 Ø˚0 
  31 ®……S…«, 2012  10,000 Ø˚0 
 +…Ω˛Æ˙h… {…Æ˙ 12% ¥……Ãπ…EÚ §™……V… ±…M……™…… V……i…… ΩË˛* +…Ω˛Æ˙h… {…Æ˙ §™……V… EÚ“ M…h…x…… EÚ“ V…B* 
 Pawan is a partner in a firm. He withdrew the following amounts 

during the year ended on 31st March, 2012 : 
  1st July, 2011 Rs. 20,000 
  31st August, 2011 Rs. 40,000 
  1st Oct., 2011 Rs. 10,000 
  31st January, 2012 Rs.   5,000 
  1st March, 2012 Rs.   5,000 
  31st March, 2012 Rs. 10,000 
 Interest on drawing is to be charged @12% p.a. Calculate Interest on 

drawings.  4 
16. Œ∫l…Æ˙ +…ËÆ˙ {… Æ˙¥…i…«x…∂…“±… {…⁄ƒV…“ J……i……Â ®…Â EÚ…‰<« S……Æ˙ +xi…Æ˙  ±… J…B* 
 Write any four differences between fixed and fluctuating capital 

accounts. 4 
17. ®……‰Ω˛x…, ®…x……‰V… +…ËÆ˙ ®…h…“π… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛ V……‰ ±……¶…-Ω˛… x… EÚ…‰ 3 : 2 : 1 E‰Ú +x…÷{……i… 

®…Â  ¥…¶…… V…i… EÚÆ˙i…‰ ΩÈ˛* ∫……Z…‰n˘…Æ˙“ ∫…Δ±…‰J… ®…Â ™…Ω˛ ¥™…¥…∫l…… ΩË˛  EÚ  EÚ∫…“ ∫……Z…‰n˘…Æ˙ E‰Ú +¥…EÚ…∂… 
O…Ω˛h… EÚÆ˙x…‰ {…Æ˙ =∫…‰ n˘“ V……x…‰ ¥……±…“ Æ˙… ∂… EÚ… ¶…÷M…i……x… ¥……Ãπ…EÚ“ u˘…Æ˙…  EÚ™…… V……™…‰M……* 31 ®……S…«,  
2008 EÚ…‰ ®……‰Ω˛x… °Ú®…« ∫…‰ +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛* =∫…E‰Ú  Ω˛∫∫…‰ EÚ“ Æ˙… ∂… EÚ…  x…v……«Æh… 
50,000 Ø˚0  EÚ™…… M…™……* ∫…Δ±…‰J… E‰Ú +x…÷∫……Æ˙, +¥…EÚ…∂… O…Ω˛h… EÚÆ˙x…‰ ¥……±…‰ ∫……Z…‰n˘…Æ˙ EÚ“ n‰˘™… 
Æ˙… ∂… EÚ… ¶…÷M…i……x… 10,000 Ø˚0 EÚ“ ¥……Ãπ…EÚ“ E‰Ú ∞¸{… ®…Â |…i™…‰EÚ ¥…π…« 1 +|…Ë±… EÚ…‰  EÚ™…… 
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V……™…‰M……* 4 +|…Ë±…, 2010 EÚ…‰ ®……‰Ω˛x… EÚ“ ®…fii™…÷ Ω˛…‰ M…<«* ™…Ω˛ ®……x…i…‰ Ω÷˛B  EÚ +n˘k… ∂…‰π… {…Æ˙ 
10% ¥……Ãπ…EÚ EÚ“ n˘Æ˙ ∫…‰ §™……V…  n˘™…… V……i…… ΩË˛, ¥……Ãπ…EÚ“ =S…xi…“ J……i…… §…x……<B* 

 Mohan, Manoj and Manish are partners in a firm sharing profits and 
losses in the ratio of 3 : 2 : 1. The partnership deed provides that in 
the event of retirement of any of the partner the total amount due to 
the outgoing partner would be settled by an annuity. On 31st March, 
2008, Mohan retires from the firm. The amount of his share was 
determined for Rs. 50,000. The amount was as per deed, commuted 
into an annuity of Rs. 10,000 which was to be paid on 1st April each 
year. On 4th April, 2010 Mohan died. Draw up the Annuity Suspense 
Account, assuming that unpaid portion thereof carried interest    
@10% p.a. 4  

18. ®…Ë∫…∫…« Æ˙…®… Bhb˜ •…n˘∫…« EÚ…‰ 31 ®……S…«, 2011 EÚ…‰  ¥…P… ]ıi… EÚÆ˙ n˘“ M…<«* =∫…  i… l… {…Æ˙ =∫…E‰Ú 
∫…®{… k… B¥…Δ n˘… ™…i¥…  x…®x… |…EÚ…Æ˙ l…‰ : 

 S…_ˆ… 31 ®……S…«, 2011 EÚ…‰ 

n˘… ™…i¥… Æ˙EÚ®…
(Ø˚0) ∫…®{… k…™……ƒ Æ˙EÚ®… 

(Ø˚0) 
±…‰x…n˘…Æ˙ 
∫……®……x™… ∫…ΔS…™… 
{…⁄ƒV…“ J……i…‰ 
        Æ˙…®…           30,000 
        ®……‰Ω˛x…         20,000 

20,000 
10,000 

 
 

50,000 
 

80,000 

x…EÚn˘ 
n‰˘x…n˘…Æ˙               30,000 
P…]ı…™…… : b⁄˜§…i… @Òh…    
           +…™……‰V…x…  5,000 
 ¥… ¥…v… ∫…®{… k…™……ƒ 
∫……‰Ω˛x… EÚ“ {…⁄ƒV…“ J……i…… 

10,000 
 
 

25,000 
30,000 
15,000 
80,000 

 +x™… ∫…⁄S…x……Bƒ <∫… |…EÚ…Æ˙ ΩÈ˛ : 
i) ∫……Z…‰n˘…Æ˙…Â EÚ… ±……¶…  ¥…¶……V…x… +x…÷{……i… 5 : 3 : 2 (Æ˙…®… : ®……‰Ω˛x… :˙ ∫……‰Ω˛x…)  
ii) n‰˘x…n˘…Æ˙…Â ®…Â 8,000 Ø˚0 b⁄§… M…™…‰*  
iii)  ¥… ¥…v… ∫…®{… k…™……Â E‰Ú 2

1 ¶……M… EÚ…‰ Æ˙…®… x…‰ 10,000 Ø˚0 ®…Â  ±…™…… +…ËÆ˙ ∂…‰π… ∫…®{… k…™……Â EÚ…‰ 
8,000 Ø˚0 ®…Â x…EÚn˘ §…‰S……*  

 ¥…∫…⁄±…“ J……i…… §…x……<B* 
  M/s. Ram and Brothers was dissolved on 31st March, 2011. On that 

date their Assets and Liabilities are as follows : 
Balance Sheet as on 31st March, 2011 

Liabilities Amount 
(Rs.) 

Assets Amount 
(Rs.) 

Creditors 
General Reserve 
Capital A/c 
    Ram           30,000 
    Mohan        20,000 

20,000 
10,000 

 
 

50,000 

Cash 
Debtors            30,000 
Less :Provision    
  for Bad debts    5,000 
Sundry Assets 

10,000 
 
 

25,000 
30,000 
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80,000 

Sohan's Capital A/c 15,000 
80,000 

 Other information : 
i) Profit sharing ratio is 5 : 3 : 2 (Ram : Mohan : Sohan) 
ii) Rs. 8,000 were bad debts 
iii) Ram took 2

1  part of sundry assets for Rs. 10,000 and remaining 
assets were sold in cash for Rs. 8,000. 

 Prepare Realisation Account. 4 

19. +…‰®…  ±… ®…]‰ıb˜ x…‰ |…i™…‰EÚ 10 Ø˚0 ¥……±…‰ 10,000  ∫…®…i…… +Δ∂… 2 Ø˚0 |… i… +Δ∂… |…“ ®…™…®… {…Æ˙ 
 x…M…« ®…i…  EÚ™…‰* 5 Ø˚0 |……l…«x…… {…j… {…Æ,˙ 5 Ø˚0 §…Δ]ıx… {…Æ˙ (|…“ ®…™…®… ∫… Ω˛i…), ∂…‰π… Æ˙… ∂… |…l…®… B¥…Δ 
+Œxi…®… ®……ƒM… {…Æ˙ n‰˘™… l…“* ®…÷E‰Ú∂…  V…∫…E‰Ú {……∫… 1,000 +Δ∂… l…‰ |…l…®… B¥…Δ +Œxi…®… ®……ƒM… EÚ“ 
Æ˙… ∂… x…Ω˛” S…÷EÚ… {……x…‰ E‰Ú EÚ…Æ˙h… =∫…E‰Ú +Δ∂… V…§i… EÚÆ˙  ±…™…‰ M…™…‰* <x…®…Â ∫…‰ 600 +Δ∂… 11 Ø˚0 
|… i… +Δ∂… {…⁄h…«n˘k… ®……x…EÚÆ˙ ®…n˘x… EÚ…‰ {…÷x…Ãx…M…« ®…i…  EÚ™…‰* 

 +Δ∂… V…§i… B¥…Δ {…÷x…Ãx…M…«®…x… ∫…‰ ∫…®§…Œxv…i… +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

 Om Ltd. issued 10,000 equity shares of Rs. 10 each at a premium of 
Rs. 2 per share, payable at Rs. 5 on Application, Rs. 5 on Allotment 
(including premium) and balance in First and Final Call. Mukesh who 
had 1,000 shares could not pay First and Final Call and his shares 
were forfeited. Out of these 600 shares were reissued to Madan           
@Rs. 11 per share fully paid up. 

 Give necessary journal entries regarding share forfeiture and reissue. 

   4 

20.  x…®x… ±… J…i… ¥™…¥…Ω˛…Æ˙…Â ∫…‰ EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B : 
i) BC∫…  ±… ®…]‰ıb˜ x…‰ |…i™…‰EÚ 100 Ø˚0 ¥……±…‰ 400, 10% @Òh…{…j…  V…xΩÂ˛ 10% §…^‰ı {…Æ˙ 

 x…M…« ®…i…  EÚ™…… l…… EÚ… ∂……‰v…x… 10 Ø˚0 ¥……±…‰ ∫…®…i…… +Δ∂……Â ®…Â {… Æ˙¥…i…«x… u˘…Æ˙…  EÚ™……* x…™…‰ 
+Δ∂… ∫…®… ®…⁄±™… {…Æ˙  x…M…« ®…i…  EÚ™…‰ M…™…‰*   

ii) BC∫…  ±… ®…]‰ıb˜ x…‰ |…i™…‰EÚ 100 Ø˚0 ¥……±…‰ ∫¥…™…Δ E‰Ú 500 @Òh…{…j……Â EÚ…‰  95 Ø˚0 |… i… 
@Òh…{…j… EÚ“ n˘Æ˙ ∫…‰ J…÷±…‰ §……V……Æ˙ ∫…‰ GÚ™… EÚÆ˙E‰Ú Æ˙q˘ EÚÆ˙  n˘™…‰* 

 Give necessary journal entries for the following transactions in the 
books of the company : 

i) X Ltd. redeemed 400, 10% debentures of Rs. 100 each which      
were issued at 10% discount by issuing new equity share of        
Rs. 10 each. New share were issued at par. 
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ii) X Ltd. purchased 500 own debentures of Rs. 100 each from the 
open market for cancellation at Rs. 95 per debenture. 4 

21. x…“ i…x…  ±… ®…]‰ıb˜ EÚ“ {…÷∫i…EÚ…Â ®…Â 31 ®……S…«, 2012 EÚ…‰  x…®x… ±… J…i… ∂…‰π… l…‰ : 
 10% @Òh…{…j… — 10,00,000 Ø˚0 
 @Òh…{…j… ∂……‰v…x… EÚ…‰π… — 10,00,000 Ø˚0* 
 @Òh…{…j… ∂……‰v…x… EÚ…‰π…  ¥… x…™……‰M…  x…®x… |…EÚ…Æ˙ ΩË˛ : 

i) 6,00,000  Ø˚0 E‰Ú 9% @Òh…{…j… 5,00,000 Ø˚0 ®…Â   
ii) 4,00,000 Ø˚0 E‰Ú 8% ∫…Æ˙EÚ…Æ˙“ @Òh… 5,00,000 Ø˚0 ®…Â*   

 ={…™…÷«HÚ  i… l… {…Æ˙  ¥… x…™……‰M……Â EÚ…‰  x…®x……x…÷∫……Æ˙ §…‰S…… M…™…… : 
 9% @Òh…{…j… 10% §…^‰ı {…Æ˙ 
 8% ∫…Æ˙EÚ…Æ˙“ @Òh… 20% |…“ ®…™…®… {…Æ˙* 
 @Òh…{…j……Â EÚ… ∂……‰v…x… EÚÆ˙  n˘™……* 
 @Òh…{…j… ∂……‰v…x… EÚ…‰π… J……i…… B¥…Δ @Òh…{…j… ∂……‰v…x… EÚ…‰π…  ¥… x…™……‰M… J……i…… §…x……<B*  
 On 31st March, 2012 Nitin Ltd. has following balances in the books : 
 10% debenture — Rs. 10,00,000 
 Debenture Redemption Fund — Rs. 10,00,000. 
 Debenture Redemption Fund Investments are as follows : 

i) Rs. 6,00,000,  9% debenture in Rs. 5,00,000 
ii) Rs. 4,00,000,  8% Govt. loan in Rs. 5,00,000. 

 On above date investments were sold as following : 
 9% debenture at 10% discount 
 8% Govt. loan at 20% premium. 
 The debentures were redeemed. 
 Prepare Debenture Redemption Fund account and Debenture 

Redemption Fund Investment account. 4 
22. ∫…÷Æ‰˙∂…, Æ˙®…‰∂… i…l…… ®…Ω‰˛∂… ±……¶…-Ω˛… x… GÚ®…∂…: 3 : 2 : 1 E‰Ú +x…÷{……i… ®…Â §……ƒ]ıi…‰ ΩÈ˛˛* 1 +|…Ë±…, 

2012 EÚ…‰ =x…EÚ…  S…_ˆ…  x…®x… ±… J…i… l…… : 
 S…_ˆ… (1 +|…Ë±…, 2012 ) 

n˘… ™…i¥… 
Æ˙EÚ®… 
(Ø˚0) 

∫…®{… k…™……ƒ 
Æ˙EÚ®… 
(Ø˚0) 

±…‰x…n˘…Æ˙ 
∫……®……x™… ∫…ΔS…™… 
{…⁄ƒV…“ J……i…‰ : 

    ∫…÷Æ‰˙∂…    1,80,000 
   Æ˙®…‰∂…   1,20,000 

®…Ω‰˛∂…      88,000 

1,60,000 
1,08,000 

 
 
 

3,88,000 
6,56,000 

x…EÚn˘ 
 ¥… ¥…v… ∫…®{… k…™……ƒ 
±……¶…-Ω˛… x… J……i…… 

1,40,000 
4,80,000 

36,000 
 
 
 

6,56,000 
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 =∫…  i… l… EÚ…‰ =xΩ˛…Âx…‰ i…™…  EÚ™……  EÚ ∫…÷Æ‰˙∂…, Æ˙®…‰∂… i…l…… ®…Ω‰˛∂… ¶… ¥…π™… ®…Â ±……¶…-Ω˛… x… GÚ®…∂…:    
2 : 2 : 1 E‰Ú +x…÷{……i… ®…Â §……ƒ]ÂıM…‰* =∫…  i… l… EÚ…‰ °Ú®…« EÚ“ J™…… i… EÚ… ®…⁄±™… 72,000 Ø˚0 ®……x…… 
M…™……* °Ú®…« EÚ“ {…÷∫i…EÚ…Â ®…Â ∫……Z…‰n˘…Æ˙…Â E‰Ú {…⁄ƒV…“ J……i…‰ §…x……<™…‰ i…l…… °Ú®…« EÚ…  S…_ˆ… §…x……<B* 

 Suresh, Ramesh and Mahesh share profits and losses in the ratio of     
3 : 2 : 1 respectively. Their Balance Sheet as on 1st April, 2012 was   
as — 

Balance Sheet as on 1st April, 2012 

Liabilities 
Amount 

(Rs.) 
Assets 

Amount 
(Rs.) 

Creditors 
General Reserve 
Capital A/c 
    Suresh   1,80,000 
   Ramesh  1,20,000 
    Mahesh     88,000 

1,60,000 
1,08,000 

 
 
 

3,88,000 
6,56,000 

Cash 
Sundry Assets 
Profit & Loss A/c 

1,40,000 
4,80,000 

36,000 
 
 
 

6,56,000 
 On that date they decided that Suresh, Ramesh and Mahesh will share 

profits and losses in future in the ratio of 2 : 2 : 1 respectively. The 

goodwill of the firm was valued at Rs. 72,000 on that date. Prepare 

Partners' Capital Accounts and Balance Sheet of the firm. 6 

+l…¥……  / OR 
 1.4.2012 EÚ…‰ +, §… +…ËÆ˙ ∫… ∫……Z…‰n˘…Æ˙ ΩÈ˛˛ V……‰ ±……¶…-Ω˛… x… EÚ…‰ 3 : 2 : 1 E‰Ú +x…÷{……i… ®…Â 

 ¥…¶…… V…i… EÚÆ˙i…‰ ΩÈ˛* =xΩ˛…Âx…‰ 1,20,000 Ø˚0 EÚ“ BEÚ ∫…Δ™…÷HÚ V…“¥…x… §…“®…… {……Ï ±…∫…“ ±…‰ Æ˙J…“ ΩË˛* 
 V…∫…EÚ… ¥……Ãπ…EÚ |…“ ®…™…®… 8,000 Ø˚0 °Ú®…« E‰Ú ±……¶…-Ω˛… x… J……i…‰ ®…Â  ±…J…… V……i…… ΩË˛* °Ú®…« E‰Ú 
J……i…‰ |… i… ¥…π…« 31 ®……S…« EÚ…‰ §…xn˘  EÚ™…‰ V……i…‰ ΩÈ˛˛*  1 +M…∫i…, 2012 EÚ…‰ ∫… EÚ“ ®…fii™…÷ Ω˛…‰ V……i…“ 
ΩË˛* +{…x…‰ {…⁄ƒV…“ i…l…… §…“®…… Æ˙… ∂… ®…Â  Ω˛∫∫…‰ E‰Ú ∫……l… ∫……l… ∫… E‰Ú ¥…Ëv…… x…EÚ |… i… x… v… EÚ…‰  x…®x… 
¶…÷M…i……x… |……{i… EÚÆ˙x…‰ EÚ… + v…EÚ…Æ˙ Ω˛…‰M…… : 

i) ®…fii™…÷ EÚ“  i… l… i…EÚ 10% ¥……Ãπ…EÚ n˘Æ˙ ∫…‰ {…⁄ƒV…“ {…Æ˙ §™……V…* 

ii) ∫……Z…‰n˘…Æ˙ EÚ… ±……¶… ®…Â  Ω˛∫∫…… V……‰  EÚ M…i… S……Æ˙ ¥…π……Á E‰Ú +…Ë∫…i… ±……¶… {…Æ˙ +…v…… Æ˙i… Ω˛…‰M……* 

iii) ∫……Z…‰n˘…Æ˙ EÚ“ J™…… i… ®…Â  Ω˛∫∫…… V……‰ °Ú®…« EÚ“ J™…… i… E‰Ú M…i… S……Æ˙ ¥…π……Á E‰Ú +…Ë∫…i… ±……¶… E‰Ú 
i…“x… ¥…π…« E‰Ú GÚ™… E‰Ú +…v……Æ˙ {…Æ˙ M…h…x…… EÚ“ V……™…‰M…“* 1 +|…Ë±…, 2012 EÚ…‰ ∫… EÚ“ {…⁄ƒV…“ 
1,80,000 Ø˚0 l…“* <∫…  i… l… ∫…‰ ®…fii™…÷ EÚ“  i… l… i…EÚ ∫… x…‰ 11,000 Ø˚0 +…Ω˛Æ˙h… 
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 EÚ™…… l……* M…i… S……Æ˙ ¥…π……Á E‰Ú ±……¶…-Ω˛… x… <∫… |…EÚ…Æ˙ l…‰ : 30,000 Ø˚0, 56,000 Ø˚0, 
10,000 Ø˚0 (Ω˛… x…) i…l…… 68,000 Ø˚0* 

 ∫… E‰Ú ¥…Ëv…… x…EÚ |… i… x… v… EÚ… J……i…… §…x……<B* 

 On 1.4.2012, A, B and C are partners sharing profits and losses in the 
ratio of 3 : 2 : 1. They had a joint life policy of Rs. 1,20,000 and the 
annual premium of Rs. 8,000 has been charged to Profit and Loss A/c 
every year. Accounts are closed on 31st March annually. C died on      
1st August, 2012. Besides his Capital and Insurance money, C's legal 
representatives are entitled to 
i) Interest on Capital at 10% per annum up to the date of death. 
ii) Partner's share in profit based on the average profit of the last four 

completed years. 
iii) Partner's share in goodwill, which is to be calculated at three 

year's purchase of the average profit of the last four years. C's 
capital on 1st April, 2012 stood at Rs. 1,80,000 and his drawing 
from that date to the death amounted to Rs. 11,000. Profit        
and loss for the last four years were Rs. 30,000, Rs. 56,000,       
Rs. 10,000 (Loss) and Rs. 68,000. 

 Prepare C's legal representative's account. 6 
23. {…⁄V……  ±… ®…]‰ıb˜ x…‰ 100 Ø˚0 ¥……±…‰ 20,000 ∫…®…i…… +Δ∂……Â E‰Ú  ±…B 10% §…^‰ı {…Æ˙ +…¥…‰n˘x… Ω‰˛i…÷ 

|… ¥…¥…Æ˙h… V……Æ˙“  EÚ™……* Æ˙… ∂…™……ƒ <∫… |…EÚ…Æ˙ n‰˘™… l…” : 
  +…¥…‰n˘x… {…Æ˙  30 Ø˚0 
  +…§…Δ]ıx… {…Æ˙  30 Ø˚0 
  |…l…®… B¥…Δ +Œxi…®… ®……ƒM… {…Æ˙  30 Ø˚0 
 19,000 +Δ∂……Â E‰Ú  ±…B +…¥…‰n˘x… {…j… |……{i… Ω÷˛B*  V…i…‰xp˘  V…∫…‰ 800 +Δ∂… +…§…Δ ]ıi…  EÚ™…‰ 

+…§…Δ]ıx… {…Æ˙ Ω˛“ ®……ƒM… Æ˙… ∂… EÚ… ¶…÷M…i……x… EÚÆ˙  n˘™……* Æ˙®…‰∂…  V…∫…‰ 1,000 +Δ∂… §…Δ ]ıi…  EÚ™…‰ §…Δ]ıx… 
¥… ®……ƒM… Æ˙… ∂… EÚ… ¶…÷M…i……x… x…Ω˛” EÚÆ˙ ∫…EÚ… +…ËÆ˙ =∫…E‰Ú +Δ∂……Â EÚ…‰ V…§i… EÚÆ˙  ±…™……* <x…®…Â ∫…‰ 
+…v…‰ +Δ∂… ∫……‰Ω˛x… EÚ…‰ 20% §…^‰ı {…Æ˙ {…⁄h…« |…n˘k… ®……x… EÚÆ˙ {…÷x…: x…M…« ®…i… EÚÆ˙  n˘™…‰* 

 {…⁄V……  ±… ®…]‰ıb˜ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 
 Pooja Ltd. issued prospectus inviting applications for 20,000 equity 

share of Rs. 100 at 10% discount payable as  
  On Application  Rs. 30 
  On Allotment  Rs. 30 
  On First and Final Call  Rs. 30 
 Applications were received for 19,000 shares. Jitendra, who was 

allotted 800 shares paid call money at allotment. Ramesh, to whom         
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1,000 shares were allotted failed to pay the allotment money and call 
money and his shares were forfeited. Half of them were reissued to 
Sohan at 20% discount as fully paid up. 

 Pass necessary journal entries in the books of Pooja Ltd. 6 
J…hb˜ - §… 

PART – B 

 J…hb˜ "§…' E‰Ú n˘…‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ ¶……M… E‰Ú ∫…¶…“ 

∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛* 

 Part 'B' has two portions. Every portion has a set of seven questions. 

Candidate can attempt only one set of seven questions of any one 

portion. 

24.  ¥… x…™……‰M… ∫…®§…xv…“  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ +xi…: |…¥……Ω˛ EÚ“ EÚ…‰<« n˘…‰ ®…nÂ˘  ±… J…B* 

 Write any two items of cash inflows from investing activities. 1 

25. {… Æ˙S……±…x…  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ |…¥……Ω˛ E‰Ú |…∫i…÷i…“EÚÆ˙h… EÚÆ˙x…‰ EÚ“  ¥… v…™……Â E‰Ú x……®…  ±… J…B* 

 Write the names of the methods of presentation of cash flow from 

operating activities. 1 

26. Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… B¥…Δ +…™…  ¥…¥…Æ˙h… ®…Â EÚ…‰<« n˘…‰ +xi…Æ˙  ±… J…B* 

 Write any two differences between cash flow statement and income 

statement. 2 

27.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ M…h…x…… EÚ“ V…B (i)  ∫…EÚ±… ±……¶… +x…÷{……i…, (ii)  ∫]ı…ÏEÚ +…¥…i…« 
+x…÷{……i… : 

  ¥…GÚ™… 5,00,000 Ø˚0, GÚ™… 3,00,000 Ø˚0, |……Æ˙Œ®¶…EÚ ∫]ı…ÏEÚ 20,000 Ø˚0,         
+Œxi…®… ∫]ı…ÏEÚ 40,000 Ø˚0, +…¥…EÚ M……c˜“ ¶……c˜… 30,000 Ø˚0, V……¥…EÚ M……c˜“            
¶……c˜… 15,000 Ø˚0* 

 From the following information, calculate (i) Gross profit ratio,           

(ii) Stock turnover ratio : 
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 Sales Rs. 5,00,000, Purchase Rs. 3,00,000, Opening Stock Rs. 20,000, 

Closing Stock Rs. 40,000, Carriage inward Rs. 30,000, Carrying 

outward Rs. 15,000. 2 

28.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ 31 ®……S…«, 2012 EÚ…‰ ∫…®……{i… Ω˛…‰x…‰ ¥……±…‰ ¥…π…« E‰Ú  ±…B Æ˙…‰EÚc˜ |…¥……Ω˛ 
 ¥…¥…Æ˙h… i…Ë™……Æ˙ EÚ“ V…B : 

 ¥…¥…Æ˙h… 
Æ˙EÚ®… 
(Ø˚0) 

|……Æ˙Œ®¶…EÚ Æ˙…‰EÚc˜ ∂…‰π… 
+Œxi…®… Æ˙…‰EÚc˜ ∂…‰π… 
n‰˘x…n˘…Æ˙…Â ®…Â EÚ®…“ 
±…‰x…n˘…Æ˙…Â ®…Â ¥…fi r˘ 
∫l……™…“ ∫…®{… k…™……Â EÚ“  §…GÚ“ 
@Òh…{…j……Â EÚ… ∂……‰v…x… 
¥…π…« EÚ… ∂…÷r˘ ±……¶… 

20,000 
24,000 
10,000 
14,000 
40,000 

1,00,000 
40,000 

 From the following information, prepare Cash flow statement for the 
year ended 31st March, 2012 : 4 

Particulars Amount 
Opening Cash Balance 
Closing Cash Balance 
Decrease in Debtors 
Increase in Creditors 
Sale of Fixed Assets 
Redemption of Debentures 
Net Profit for the year 

20,000 
24,000 
10,000 
14,000 
40,000 

1,00,000 
40,000 

29. BEÚ EÚ®{…x…“ E‰Ú ∫…®§…xv… ®…Â  x…®x… ∫…⁄S…x…… n˘“ M…<« ΩË˛ : 
   ¥…GÚ™…  8,00,000 Ø˚0 
  {… Æ˙S……±…x… ¥™…™…  64,000 Ø˚0 
  ∫…EÚ±… ±……¶…  1,20,000 Ø˚0 
  |……Æ˙Œ®¶…EÚ ∫EÚxv…  1,00,000 Ø˚0 
  +Œxi…®… ∫EÚxv…  1,60,000 Ø˚0 
  n‰˘x…n˘…Æ˙  80,000 Ø˚0 
  ∂…÷r˘ ±……¶…  60,000 Ø˚0 
  ∂…÷r˘ ∫l……™…“ ∫…®{… k…™……ƒ  4,00,000 Ø˚0 
 ∫…®…∫i…  ¥…GÚ™… EÚ…‰ =v……Æ˙ ®……x…EÚÆ˙ ={…™…÷«HÚ ∫…⁄S…x…… ∫…‰  x…®x… +x…÷{……i……Â EÚ“ M…h…x…… EÚ“ V…B : 
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i) {… Æ˙S……±…x… +x…÷{……i… 
ii) ∂…÷r˘ ±……¶… +x…÷{……i… 
iii) n‰˘x…n˘…Æ˙ +…¥…i…« +x…÷{……i… 
iv) ∫l……™…“ ∫…®{… k… +…¥…i…« +x…÷{……i…*  

 The following information are given regarding a company : 
  Sales  Rs. 8,00,000 
  Operaing Expenses Rs.    64,000 
  Gross Profit  Rs. 1,20,000 
  Opening Stock  Rs. 1,00,000 
  Closing Stock  Rs. 1,60,000 
  Debtors  Rs.    80,000 
  Net Profit  Rs.    60,000 

  Net Fixed Assets  Rs. 4,00,000 
 From the above information, calculate the following ratios assuming all 

sales as credit sales : 
i) Operating ratio 
ii) Net Profit ratio 
iii) Debtors Turnover ratio  
iv) Fixed Assets Turnover ratio. 4 

30.  x…®x… ±… J…i… ∫…⁄S…x……+…Â EÚ“ ∫…Ω˛…™…i…… ∫…‰ BC∫…  ±… ®…]‰ıb˜ EÚ… ∫…®……x……EÚ…Æ˙ +…™…  ¥…¥…Æ˙h… i…Ë™……Æ˙ 
EÚ“ V…B : 

+…™…  ¥…¥…Æ˙h… 
  31 ®……S…«, 2010 31 ®……S…«, 2011 

∂…÷r˘  ¥…GÚ™… 
§…‰S…‰ M…™…‰ ®……±… EÚ“ ±……M…i… 
{… Æ˙S……±…x… ¥™…™… 
®…⁄±™… ø…∫… 
 ¥… x…™……‰M… ∫…‰ +…™… 
+…™…EÚÆ˙ 

5,00,000 
4,00,000 

60,000 
20,000 
40,000 
12,000 

4,00,000 
3,00,000 

50,000 
20,000 
60,000 
18,000 

 Prepare common size Income Statement from the following information 
: 6 

Income Statement 
 31st March, 2010 31st March, 2011 
Net Sales 
Cost of goods sold 
Operating Expenses 

5,00,000 
4,00,000 

60,000 

4,00,000 
3,00,000 

50,000 
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Depreciation 
Income from Investment 
Income Tax 

20,000 
40,000 
12,000 

20,000 
60,000 
18,000 

+l…¥…… / OR 
 {…¥…x… Bhb˜ ∫…x∫… EÚ“  ¥… ¶…z… ¥…π……Á EÚ“  §…GÚ“  x…®x… |…EÚ…Æ˙ ΩË˛ : 

   ¥…π…«     §…GÚ“ 

        Ø˚0 

  2006 2,00,000 

  2007 2,40,000 

  2008 1,60,000 

  2009 2,25,000 

  2010 2,50,000 

  2011 3,00,000 

 ¥…π…« 2006 EÚ“  §…GÚ“ EÚ…‰ +…v……Æ˙ ®……x…EÚÆ˙ Y……i… EÚ“ V…B (i)  +…v……Æ˙ ¥…π…« ∫…‰ |… i…∂…i… {… Æ˙¥…i…«x…, 
(ii)  |…¥…fi k… +x…÷{……i…* 

 Following are the sales of different years of Pawan and Sons : 

  Year   Sales 
      (Rs.) 
  2006 2,00,000 

  2007 2,40,000 

  2008 1,60,000 

  2009 2,25,000 

  2010 2,50,000 

  2011 3,00,000 

 Assuming 2006 year's sales as a base calculate (i) Percentage change 

from base year, (ii) Trend ratio. 6 

+l…¥…… / OR 

¶……M… - §… 
PART – B 

24. CAS  C™…… ΩË˛ ? 
 What is CAS ? 1 
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25. ±…‰J……ΔEÚx… ¥™…¥…Ω˛…Æ˙…Â ®…Â EÚ…‰<« n˘… ‰ b‰˜]ı… i…i¥……Â E‰Ú x……®…  ±… J…B* 
 Write the names of any two data elements in accounting transactions. 1 
26. Æ‰˙b˜“®…‰b˜ ∫……Ï}]ı¥…‰™…Æ˙ E‰Ú n˘…‰ ±……¶…  ±… J…B* 
 Write two advantages of readymade software. 2 
27. CAS EÚ“ C™……  ¥…∂…‰π…i……Bƒ ΩÈ˛ ? 

 What are the characteristics of CAS ? 2 
28. a) CAS ∫……Ï}]ı¥…‰™…Æ˙ ∫…‰ ∫…Δ§…Δ v…i… ∫…÷Æ˙I……  ¥…∂…‰π…i……Bƒ §…i……<B* 
 b) BEÚ ]‰ı §…±… 'Employee' E‰Ú ∫…fiV…x… E‰Ú  ¥… ¶…z… S…Æ˙h… §…i……<B* 

 a) Explain the security features associated with CAS. 

 b) Write the different steps to create a table 'Employee'. 2 + 2  
29. b‰˜]ı…§…‰∫… |…§…Δv… |…h……±…“ C™…… ΩË˛ ? <∫…E‰Ú n˘…‰ ±……¶……Â EÚ… ¥…h…«x… EÚ“ V…B* 

 What is Database Management System ? Explain its two advantages. 

   4 
30. M……ËÆ˙¥…  ±…0 +{…x…‰ EÚ®…«S…… Æ˙™……Â EÚ…‰ =x…E‰Ú u˘…Æ˙… EÚ“ M…™…“  ¥…GÚ™… E‰Ú +…v……Æ˙ {…Æ˙ ™……j…… ¶…k…… EÚ“ 

M…h…x…… EÚÆ˙i…“ ΩË˛* MS-Excel ®…Â  x…®x… ±… J…i… EÚ“ M…h…x…… E‰Ú  ±…™…‰ ∫…⁄j…  ±… J…B : 
a) |…i™…… ∂…i…  §…GÚ“ ¥… ¥……∫i… ¥…EÚ  §…GÚ“ E‰Ú ®…v™… +xi…Æ˙  
b) ™… n˘ EÚ®…«S……Æ˙“ |…i™…… ∂…i…  ¥…GÚ™… ±…I™… EÚ…‰ |……{i… EÚÆ˙ ±…‰i…… ΩË˛ i……‰ ™……j…… ¶…k…… 5,000 Ø˚0 

i…l…… §…‰S…“ M…™…“ |…i™…‰EÚ + i… Æ˙HÚ <EÚ…<« E‰Ú  ±…™…‰ 50 Ø˚0  ®…±…ÂM…‰* 
c) ™… n˘ |…i™…… ∂…i… <EÚ…<™……ƒ x…Ω˛” §…‰S…“ V……™…Â i……‰ ¶…“ 1,000 Ø˚0*  

 Gaurav Ltd. calculates conveyance allowance on the basis of sales 
made by its employees. Write the formula in MS-Excel for calculating 
the following : 

a) The difference between expected sales and actual sales. 

b) The conveyance allowance will be Rs. 5,000 if the employee meets 
the expected sales target and for every extra unit sold, he would 
get Rs. 50. 

c) Rs. 1,000 even if expected units are not sold. 6 

    
 


